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(a) In each of the following items, sentence A is complete, but sentence B is not.
Complete sentence B making it as similar in meaning as possible to sentence A.

Write sentence B in each case.
[10]

Example : (A) That is all | know of the case.
(B) Beyondthat ............ ... ... ... ...
Ans. Beyond that | know nothing of the case.
(1) (A) The television programme on Indian communities was discontinued because
Of protests from some politicians.
(B) Inview . . ....... ... ..

(2) (A) No sooner did | lift the load than | felt a pain in my back.

(3) (A) The shopkeeper is known for cheating his customers.
(B) The shopkeeperhas ......................

(4) (A) The coach assured us we would play the match despite the rain.

(6) (A) Martha wore a hat so that she wouldn’t get sun burnt.
(B) Marthaworeahatto ......................

(7) (A) The hijackers ordered the passengers to move to the rear of the aircraft.
(B) Thepassengers..........ccvvvvvnnn..

(8) (A) Shyam invited me to visit him again.

(B) Shyamsaid,“You......................



(9) (A) My father was silent throughout the parent teacher meeting.
(B) Notaword ......................
(10) (A) Every organization is different.

(B) NOo....iiii i

(b) Fillin each blank with a suitable word. (Do not write the sentence.) [5]

(1) This medicine leaves a taste peppermint in the mouth.

(2) My friends have a taste Indian classical music.

(8) Shanu has been corresponding his pen friend for the last five
years.

(4) The model of the building does not correspond the architect’s
drawing.

(5) Would you like a slice cheese?

(6) You are advised fasten your seat belts.

(7) Trade furs and animal skins is banned in this country.

(8) We traded our old television for a new one.

(9) Idon’t care Chinese food very much.

(10) She doesn’t seem to take care her children.

(C) Fill in the blanks in the passage given below with the appropriate form of the verb
given in brackets. Do not write the passage, but write the verbs in the correct order.

[5]

A recent study (1) (show) that children became more aggressive the longer
they (2) (play) violent games on the computer. They shouted, pushed and

(3) (hit) other children. On the other hand, those who played these gamesin
occasional bursts (4) (show) little discernible effect. The study also

(5) (find) that the heaviest computer users (6) (have) the
fewest friends and (7) (report) seeing their machine as a substitute
friend.Another study (8) (carry) out in the USA showed that playing games
with interactive violence (9) (raise) aggression levels faster than watching

violent television and film. It is believed that the two boys who murdered twelve students
and a teacher, before shooting themselves in a Colorado school, were fans of a video game
called ‘Doom’ which the military (10) (license) to train soldiers to kill.






